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(a) What are the advantages of Aerial surveying

over other methods?
(b) What is EDM? What are its different types?

(@) a1 wdaor faferl & gaam 4 wRaa
adeor & T drH 272

(@) So Slo THo TT 2?7 3D A= yaR
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Time : 3Hrs. Sem. IV - C/C(R)
Advance Surveying
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |

Answer all five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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w0 W Es €WIH W 4 ugais ford 1 -

WA | T WA | 3T B[ 3R UrgqTh(Hod)|  Remarks
P 49 q1 -4°22' |1.050 (1.103 |1.156 jg;‘omw
Q +10°0" |0.952|1.055|1.158

IUHIT &I Faais 100 d2m o 21 fag P wd

Q @ g @I afaw & sma &V |

Two tangents intersect at a chainage of 1200m, the

deflection angle being 38°. Calculate all the data

necessary for setting out a simple circular curve of

radius 350m by deflection angle method. The peg

interval is 30m.

6
gl el @Y Ud G Bl 1200 Hlo @& AW

WR Hledl © | faue HIvr 38° 9o E’d gl

T $I f3ar 350 Mo B, O 9% &1 TN

fader divr fafr @ &1 2q SawAs IATds!
DY AT BN | G IrTe 30 Ho B
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(i)

(iif)

(iif)

(iv)

3 1615401
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(@) feh @ &1 foar

@) fodl Y@ @ fepa & =a
(@) afas @Ivn & A9 BT B
(€) ¥ | ®ig 7

The total latitude and departure of any point
with respect to a common origin in termed
as -

(a) Independent co-ordinates

(b) Dependent co-ordinates

(c) Consecutive co-ordinates

(d) None of these

fodl fag @ v o fag & dsd 4
| JAQel Jieier MR quid dedrd
2

@) w@aa Fdens

@) snf3a Mden®

(@) sura fAdene

(?) s & ®Ig L

The departure of a line will be positive when
it is measured-

(a) Southward

(b) Northward

(c) Westward

(d) Eastward

P.T.O
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(a) What is the use of telescopic alidade ?
(b) Name the component parts of Total station.
What are its features ?

(31 Selipifue vfass &1 SuAlT «r 8 ?
(@) <lcd ©¥A & fafr= 3 & ford |
s®! fagivand «ar @ ?

For the following traverse, compute the length of CD
so that A, D and E may be in one straight line :

6
Line | Length (M) Bearing in degrees
AB 340 85
BC 506 32
CD - 350
DE 622 18

fer=ifea wTerm Y@ © fow Y@ CD @)
TS SId ®X dife A, D dT EUd & Oxdl
T W Bl |

@l | awrs (e H) | feaam (Feft #)
LAB 340 85

BC 506 32

CD - 350

DE 622 18
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(vi)

(vii)

(vii)

(viii)

5 1615401

qrar ger Rerfa &1 .. Y ®ar
ST 2 |

(@1 eferediu Afda

(@) 2forwid SRRaT

(|) ds9ct U

(2) Swiaa g+

In a theodolite the line of collimation is
(a) Parallel to the axis of plate levels
(b) Parallel to the vertical axis

(c) Parallel to the trunnion axis

(d) Perpendicular to the trunnion axis

foift foramelese § ogA 3w
Fiferder ghar 21

(31) wiT dad > JIF D FAHR
(d) ST AT B FAAFTR

@) gfE g @ |aETaR

(?) gff e s1er & aaq

The principal plane contains-

(a) Nadir point

(b) Isocentre

(c) Principal point

(d) Principal axis and principal line

P.T.O



O'Ld

| QUBRR ERYR 1® RYR) DRI P laph
R2h lakk] | 2 1Bl IR®] Ir|lRK 1P Ilnk3ph
P2h lakk| bls Ab BPIQ ¢ |RD|leY3}h kLo

9
OIS 183U B PIM SUILIAINS

o1qes dueld Jo poyiowr uondsIdUI Y} urefdxyq ‘pasn

S1 AoAIns o[qe) due[d 9I0UyM SUOIIENIIS O} UOUA

‘L

2 AR & |2k bh Ui

0€= X9
"SuonSan() ALY [[e Jomsuy
J dNOoYD
| DlERR
L QIGE ® 320 DUy b YR 2y
"3ursuds

Q)OI UL SIOSUAS 0wl Jo sadAy ay) urepdxyq

(T (0)

10¥SI91 S1 PSOYN

asay Jo duoN (p)
axmsiow pue spnoj) (9)

poom pue [991S (q)
91210U09 pue [[ep\ (B)
o1y} dJenduad 03 [njasn AIdA ST Jepey

Bk Bl B hkE (2)

B Rhe @b (B)

B 21he Ik Rdd di (b)
B 2kne (k)

—2 Ibln IR PIEPAE 16 kRJR 210y

asay Jo duoN (p)
eIOWed © woliy pakorda (9)

apraes Jo aueld e woiy pakordo( (q)
1ndwod e woty pakordo( ()

- SI 3UISUSS 9JOWNY

Iy BIBK bh Rle BIBK (2)
Bup) Likh (1)
ARSI (B)
Bap) A2l (k)

—2 Ib|2 b BD LIBK

PSOYN 9

()

(x1)

(x1)

(T11A)

10vSI91



1615401 14 N4054

OR(3721dT)

What are face left and face right observations ?
Why both face observations are taken ?

91T Beld U4 ST Bold Y&IoT &1 82 qI-l
Bold bT Y& Fal forar wrar 27?

Explain the term "Balancing a Traverse". Write any
one rule of balancing a traverse. 4

“HIET Y@T & A" B G | ATl @
&I Arafed s @1 fadl e e &1 ford |

OR(3721d)

How are tangent points located with chain or tape
only? Describe with neat sketch.

SRE o wiar 4 4 e o &1 i
»¥ fHAT SIrdar 27 We8 ARW & 91T quid
N |

What are the mechanisms of scattering and
absorption in Electromagnetic Radiation ?

faera g fafeor 7 wheRT qon
ALY B AT FT 8 ?
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x)

(xi)

(xi)

(xii)
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Sy 2 |

@) SR dum sdie
(9) sErd dAT BIS
(¥) qrgal qar TH
(€) 37 9 By =Tl

EDM can provide an accuracy of
measurement of .............

(a) 1 in 1000000

(b) 1 in 100000

(c) 1 in 10000

(d) None of these

EDM @& §RT 419+ &1 .......... EdT 9T
P ST AHhdl 2 |

(1) 1 in 1000000

(§) 1in 100000

(&) 1 in 10000

(€) 39 9 BIg 8l

The working edge of alidade is known as
(a) Straight edge

(b) Sharp edge

(c) Fiducial edge

(d) None of these
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fosft Sqariier &1 Rfsar aa

2.4 mm U4 3isifdcd & Bidd d-=l Bl
& 240 mm B, A1 9D UG FrAdi®
ST q19 BT |

(31) 142.6

(9) 137.6

(®|) 576

(=) 100

GROUPB

Answer all Five Questions.

gl uig g & SR o

2.

4x5 =20

What is U-fork ? write its function in plane table

surveying

J-—Hhih T 87 Ucd A& § 3D B
P fored |
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(xiv) fIHvT ded & Udd oA fag | |+

(xv)

(xv)

(xvi)

U d WIE B IR AHAD..............
HEATdl B |

(31) fafe=or

() ufa=8<eq

(@) RaaeE

(2) graf¥fr

The deflection angle of a curve of 400 m
radius is 90°. Its tangent length will be equal
to.

(a) 200 m

(b) 100 m

(¢) 50 m

(d) 400 m

400 HexX 34T 9Tl U 9 & duivl
&1 fagg ®iv1 90° B | 39D Colve DI
S L | S Y |

(%) 400 m

The distance between the point of curve to
the point of intersection is termed as.

(a) Tangent distance

(b) External distance

(c) Apex distance

(d) Mind ordinate

P.T.O
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